( 5 50 )

(A) WAV
(B) MP3
(C) MID
(D) RA

(A) 1CQ

(B) WIKI
(C) BLOG
(D) SkyPe

44.1kHz 16
(A) CD

(B) FM

©)

(D)

MIDI
(A) MIDI

(B) MIDI

©)

(D) MIDI

(A)
(B)
©
(D) Ariad  Helvertica




6. Bitmap

BITMAPFILEHEADER

BITMAPINFOHEADER

RGBQUAD

DATA

(BITMAPFILEHEADER, BITMAPINFOHEADER,

1078 Bytes, 2

(A)
(B)
(©)
(D)
(E)

(A)
(B)
(©)
(D)
(E)
(F)

(A)
(B)
(©)
(D)
(E)

(A)
(B)
(©
(D)

BMP
61440000 Bytes
61441078 Bytes
31000 Bytes
31078 Bytes
1921078 Bytes

20

3 (byte)
14

35.7M

25.7M

15.7M

143M

103 M

63M

MPEG

1.5Mbps
10Mbps
11Mbps
15Mbps
100Mbps

Sampling Rate
Quantization Level
Channel

?

(1600x1200) 256

30

MPEG-1

RGBQUAD)

300 X 200

MPEG-1



10.

4.

o

(A) multicasting unicasting

(B) RTSP  Rea Time Streaming Protocol

(C) RTSP Internet VCR remote control protocol
(D) RTSP SO 10646

(E) RTSPresponse

(F) PLAY, PAUSE, STOP, REDIRECT RTSP

( 10 50 )
RGB CMYK LAB

Virtual Reality
Reality

Augmented

Please explain the raster-graphics format and vector-graphics format.

Please explain the MP3 compression technique.



( 5)
1. Convert the 52.625 ( base : 10) into base 16:
(A) (34.9)16
(B) (33.A)16
(C) (34.0)16
(D) (34.A)16

2. Given aprogram below. What is the output after executing this program?
(Result =7?).
(A) 60
(B) 120
(C) 22
(D) 2
(E) 32
(F) O
#include <iostream.h>
int fun_a(int, int, int);
int main()
{
inta b, n;
a=10;
b=12;
n=aga
cout << "Result =" << fun_a(a, b, n);
return O;
}

int fun_a(inta intb, int n)

if (N%b==0)
return n;
else
return fun_a(a, b, n+a);

3. Which of the following statementsis false?
(A) A time-sharing system is also a multiprogramming system.
(B) A multiprogramming system must be a multiuser system.
(C) A real-time systemisaso an on-line system.
(D) Memory protection exception is a program interrupt.

1



. The average running time of quicksort is propositional to
(A) O(r’)

(B) O(nlogn)

(C) O(n)

(D) O(logn)

. Which of the following term refers to the process of loading an operating system
into a computer’s memory from CD-ROM or diskette or hard disk?

(A) encoding

(B) booting

(C) browsing

(D) routing

. Atypical decomposition of acompiler is shown below:
(a) Code Generation phase
(b) Code optimization phase
(c) Semantic phase
(d) Lexical phase
(e) Intermediate code generator phase
(f) Syntax phase
The processing sequence of these phasesin atypical compiler is:
(A) fdceab
(B) cdefab
(C) dfceba
(D) abedfc

. A computer which dedicates to decide who can connect from outside into inside or
form inside to outside network is called

(A) DNS

(B) DHCP

(C) Firewall

(D) Cookie

. What will be printed by executing the program below: (Assuming Call by
reference)
(A) 5
(B) 13
(C) 8
(D) 21
(E) 3
(F) 26
int main(void)
{
X=5;
y=8;
fun( x+y, X, y);
print x;



Void fun(x, y, z{
X=y+z;
y=X+Z,
Return;

9. Convert theinfix expression (A+B)* C/(D-E-F) to postfix expression
(A) ABC+DEF--/
(B) AB+C*/DE-F-
(C) ABCDEF+*--/
(D) AB+C*DE-F-/

10. Which of the following descriptionsis not correct?

(A) Considering computer communications, half duplex links allow
transmission in either direction, but not at the same time.

(B) The primary function of aMODEM in a data communication systemisto
access data from main memory.

(C) DMA isatechnique generaly used for transferring data between memory
and high speed peripherals.

(D) A complete binary tree of depth k has 2 -1 nodes.

1. | Pv 6 ( 7 %)

2. (error guessing) (sorting)
(7%)

3. (7%)

4. (7%)

5. VoIP (7%)

6. Define each of the following acronyms. (7%)
(@ XML (b)XSL (c)SGML (d)DTD (e) URL

7. What are the necessary conditions of deadlock, and what are the differences
between deadlock and starvation? (8%)
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Please use 200 words to write an English compositionon “The Thing | Liketo Do
Most After | Enter a Graduate School”
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